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Inverse Trigonometric Functions

Write an algebraic expression that is equivalent to the expression.

1) cot (arctan x) sin(arctan x)

3) cos (arcsin 2x) sec(arctan 3x)

5) sin (arccos x) sec| arcsin(x—1) |

X 1
tan (ar oS —) cot (arctan —j
7) 3 X

[ xj ( . x—hj
csc| arctan — Cos| arcsin ——
«/2 r

Fill in the blank.

1) arctan 9. arcsin( ),x#0
X

' 2
2) arcsin 366_)( =arccos( ),0<x<6

3) arccos——> = arcsin( )

X2 —2x+10

4) arccosx%2 =arctan( ),|x-2[<2

Graph the function.

i.  f=(x)=2arccos(2x)

ii.  f(x)=rarcsin(4x)
f (x)=arctan(2x—3)

fx = —3+arctan(7x)

. 2
f = — -1 —
(x)=z—sin (3)

1
fix)=Z 12
(x) +C0S ~
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